M & 0 & AF Y E A A
C B 13 LESH SEHLEAYA SFR A ~ SESHLEAHL SFRL
SeALAYL BT
NgEo g8 242
D NYEES EEX 2L e
A -3 -H2A(SH) - HEAMY - BES Of] AF R J| & oK =
AL SFXL 6,068,778 6,253,483 A 184,705
BHEo g8 e 3,501,532 3,675,997 A174,465
BHEo S8 e 3,501,532 3,675,997 A174,465
A 7R 2el 37,492 40,307 AN2,815
101 elH| 4,092 4,307 A215
10 JIZtMZ22 RS2+ 4,092 4,307 A215
OollaHE 2 A215 0 A215
401 AIEHIZ 2 33,400 36,000 A2,600
01 Al&HI 33,400 36,000 A 2,600
OularE 2 A2,600 0 A 2,600
HY Jdl ¥ 2 245,000 250,000 A5,000
401 AIEHIZ 2O 95,000 100,000 A5,000
01 Al&HI 95,000 100,000 A5,000
ouarEz A5,000 0 A5,000
A8 FH 2 Y 22 227,200 240,000 A 12,800
201 et H| 7,200 8,000 A800
01 AFR22lH| 7,200 8,000 A800
ouardE AB800 0 A800
401 AIEHIZ R2OHb] 212,000 224,000 A 12,000
01 Al&t| 212,000 224,000 A 12,000
OXtg L A8 EH XY (HaE2) 65,700 66,500 A 800
OSZ2RX ExFH s30/(0&EZ) 146,300 157,500 211,200
Tz RANE=> 2,803,150 2,951,000 A 147,850
401 AIEHIZ 2 2,788,250 2,935,000 A 146,750
01 Al&HI 2,755,000 2,900,000 A 145,000
ooarE A 145,000 0 A 145,000
03 AIE=20bl 33,250 35,000 1,750
OO0l AHE 2t 21,750 0 21,750
405 KtatF S| 9,900 11,000 A 1,100
01 AHALEESHSHI 9,900 11,000 A 1,100
OularE 2 A 1,100 0 A 1,100
THOHCHZH KHXH =2 & 54,000 60,000 26,000
206 M=l 54,000 60,000 26,000
01 M=z=Hl 54,000 60,000 6,000
ouaE 26,000 0 26,000
HY2HGU(BEAEAE L SFRL) 2,567,246 2,577,486 210,240
|I2ZU(SEHEAMNL A SFXL) 165, 160 175,400 210,240
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